
Geometry/Trig 2 Name: __________________________

Medians in Trapezoids Worksheet Date: ___________________________
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1 2 3 4 5 6 7

DC 14 7.2 21 8 19

AB 30 12.6 30 66 31

MN 28 18 25 40

8. If AM = 14, then DM = _____ and AD = _____.

9. If CB = 46, then CN = _____ and BN = ______

10. If AM = 3x + 2 and DM = x + 18, then 

x = _______    AM = ________  DM = ________ 
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x = _______

BC = ______

AD = ______

x = _______

PS = ______

UT = ______

x = _______

NO = ______

QR = ______

MP = ______

x = _______

HI = ______

KL = ______

GJ = ______

EF is the median TU is the median

QR is the medianKL is the median
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All figures in this worksheet are trapezoids.

MN is the median




